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QUESTION 1

If a barber is capable of cutting the hair of 35 people per day, and he works 7 days per week, how many haircuts could
he give during the months of April, May, and June? 

A. 3185 

B. 3150 

C. 2545 

D. 2555 

Correct Answer: A 

 

QUESTION 2

Last year, Margot grew 50 bushels of corn in her backyard. This year, the yield has increased 8%. How many bushels of
corn did Margot grow this year? 

A. 56 

B. 52 

C. 60 

D. 54 

Correct Answer: D 

 

QUESTION 3

An automobile manufacturer offers a 15% rebate on the list price of a new car. What would be the rebate on a car that
lists for $13,620? 

A. $900.00 

B. $11,577.00 

C. $204.30 

D. $2,043.00 

Correct Answer: D 

 

QUESTION 4

Julie gives 7 pieces of candy to each of her friends. 
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If Julie gives all of her candy away, which amount of candy could have been the amount she distributed? 

A. 128 

B. 161 

C. 145 

D. 162 

Correct Answer: B 

 

QUESTION 5

If 5 apples cost $2.00, how much will 15 apples cost? 

A. $8 

B. $30 

C. $10 

D. $6 

Correct Answer: D 
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